[bookmark: _GoBack]Desetinná čísla - početní operace 
1. Sčítání a odčítání
a) Vypočítej.
5,6 + 3,8 =			-9,1 + 10 =				-3,6 + (+0,2) =
-7 + 3,2 =			- 6,2 – 2,4 =				+ 10 – (+3,5) = 
6,4 – 8,3 =			+69,1 – 69,1 =			0 – (-42,5) =
15 – 17,6 =			-1,8 + 10 =				- 5,6 – (-3,1) =
-93,4 – 3,4 =			3,4 – 3,9 =				-15,3 + (- 1,6) =

b) Doplň řetězce.
   x =                +0,3                               -1,2                                    +0,1          - 3,5

   x =                - 0,4                               +7,2                                    - 1             + 7,2


2. Násobení a dělení
a) Vypočítej.
- 4,5 . (+2) =			- 4 : (-0,2) = 				+0,8 . (-0,2) : (-2) =	
- 9 : (- 0,3) =			31 . (- 0,3)= 				1,5 . (- 10) : 3 =
-5,4 : (- 0,2) =		- 0,4 . 300 =				- 0,1 . 9 . (-0,3) =
20 . (-0,41) =		- 200 . 0,03=				- 0,8 . (-0,21) : (- 0,01) =
- 0,91 : (- 0,7) =		- 0,48 : (+ 0,12) =			0,29 . (- 2) : 10 =

b) Doplň řetězce.
   x =                . 3                                   : (-0,2)                              .0,4          - 1,2

   x =               : (-10)                               . 7                                    : (- 1)          0,28

